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10. By using the trigonometric substitution
*

(2 Points)
x = 3sec(0), where() < 0 < =,
the integral | f?‘ =dx can be transf ormed
XIyxs=9

into one of the following integrals

[ esc?(0).do
f sin’ (6).dO
f cot” (0).d0O

f cos>(0).do \/

f cos(0).do
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1. Suppose that *
(2 Points)

f(0) = f(2), f(2) =2, and [ is continuous.

Find [ (2, xf(x). dx

2



o
\
N
<\
AMW\
4 nUw
) <
\ T
I
4 [ 1= /
=X ] |
N h Q —
i ! :
i I =
= //L
) = I 4
ST Y= ST N
, , | TR
u | —2 /IV f SaaN
D r _ ,,
- # -\ \
S2mn =S
R ™
X ,
ol M
bl |




4. Integrating *
(2 Points)

[ xsin~'(x).dx by parts

in correct way we obtain

an expression of the form A — [ B.dx
then B =
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16. To integrate the function *
(2 Points)

©
(x=2)(x+2)

one should try to express it in the form

by partial fractions

A B
Lo x—2 5 X+2
A B
x—2 g5 X+2

Ax+B Cx+D
x—2 * x+2
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0. Which substitution is needed to evaluate
the integral *
(2 Points)

[ sec®(0) tan’ (0).d(0)

u= sin(o)
u = cos(0)
u = cot(0)
u = tan(0)

5 u = sec(8)

|I I . | - | . : |- |o



19. Question *

(2 Points)
[ &tdx =
x+3nx-1+C v

x+3nx-1+C
x+4nx-1+C
x+2nx-1+C

x+nx-1+C

20. Find the Cartesian eiuation for the






13. what is the suitable substitution
required to evaluate the integral *
(2 Points)

[ —=—=dx

V2X—3+2

x=2tan(0) + 1

X = 2 sec(@-+°1

-
|
o

2sec(f) -1

x=2sin(@) + 1

= 2tan(8) — 1

-
l

14. The two polar points *
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(2 Points)

I cos(Sx)cos(x).dx =
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16. By using the trigonometric substitution *
(3 Points)

X = %mn(()) where — = < 0 <

Ielq

. 16 o
the integral [ —_,_d.\
3(dx?49) 2

can be transformed into

one of the following integrals

f tan- lUJ I(}

sect(0)

Jv tan (())
sec IH)

f tan” (0) (H)

sect (1)

f tan l()) I()

sec(d)

f tan* (0) N)

sect(0)

Which one of the following integrals .3
* represent the area
(ddnss 3)

inside r =1 —=sin(0)
and outside r = 1.






A SUdLIT SUUSLIIULIUN W Wil give uic ./
* following
(3 3

[ tan? (x) sex" (x) dx = [u® = . du

Then n =

)

Find the value of the constant C for.5
which the following integral is convergent







2. Which one of the following improper
integrals is divergent *
(2 Points)

oo —
| x7 Tdx
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